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Her courtyard which comes afterwards - IXD% IMRY N2 IR

Overview'

The X3 attempted to establish the 7I1wn (of 7wV’ AXY27 ANXY AWKRT) in a case where
the husband said to her. ‘be a 192177 °%¥ until you reach there, and then appoint a
772275 m9w’. And the X nx asked but the rule is that a woman cannot make a 15w
172p% to receive the vi from the 72717% 9w, because it is (similar to) 1827 7730
1821 R?. There is a dispute between >"w7 and NMooIn how to interpret this X7,

=992N 98N1a VI MY ZV‘\\D”‘,:': v99
»''w explained the issue of 1827 XY 7827 71930, where the husband placed the w3
in his friend’s 231 -

mooIn disagrees:
- *195905 NYYY >3 XY 1930 8NT IR PR

And this does not appear to be correct, for placing a v in Y9217 93717 is not similar
to a o970 MW —

mooIn offers his explanation:
- ©Y9ANRY 19912) *1NY Y 98NHA SN MY DNY 13939 9DIN NIN

Rather, says the >''- that the concern of IXd»n 2nX? 1827 77¥n7 is where the

husband placed the @3 in his own 9271, and then sold the 7% to others -
- NN NG NP NYURM

And the wife acquired it from that other person.

nvoIn asks:
= N9 HNNY ANAN NINN DIVN VPIIY YD NNY 9NN ON)

And if you will say; why is there a need to mention (that a woman cannot make
a 1772p% YW to receive the VA from a 737177 1°9W) because of JX2% MIR® 7IR27T RN

" See ‘Overview’ to previous X 71"7 ‘0.

2 owm 1"72 2w writes; XM '[’51?‘5 POW XA DR YW R OO0 R R a0IP 72 ANRY %2R 2 v PaTRow 77 ™7
RNYW RN 77 2WR KOR 22INR MMOW DN IR? AT RIT PTI ROV XYY KT NWIRY DRI 77207 1700 INRWY INRIPWI
N7 777 WD 00T,

3 The Sva cannot make this 731 for a 5 to deliver it to his wife, since he has no rights in this 7%m.

* Why should we prohibit a woman from making a 722p% %% to collect the b3 from a 71997% 72w because of the
concern of 121 INRY 7827 7737, since (according to *"w1d) they are not similar!

5 In this case his 7% is similar to a 797> M°>W, because he can grant the 1371 to the nWX, just as the 79772 %W can
bring the 3 to the TwX. He has full rights to his 79X and can direct it at his will. See ‘Thinking it over’.

% Mmoo does not spell out why this is invalid; presumably because this is similar to ¥p7p >23 v 0> *2n.
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- "nnsy MNYY DIVN 13N Ny 1N

The X3 should have said that because of the nn»w itself, it is not valid -
- s‘nb:?b HYIY MKY NIDY IMNR AYYHN NYNNI NIDIND NYHY NYY Hyanvy

For the husband may make a 175%7% n°>w and the woman will make that very

same Y2 a Tvapd mbw -
- 75ya1 HYN MNYHY NN NYT DIV 3NN NY NI ONN 99

But in such a manner the n°5w will not be effective since 93X ny»w 7917 XY
byan!

N1B0IN answers:
- 7595 9792 99K H¥aN HENX MNYYY 1IN NIY DYV INMNT DIVN PN 19539 9IN)

And the °''7 states the reason the X3 chose X2n XY 7827 77%0, because that

reason of ®»an ®XNR nyOLY 777317 K® is not that clear -
- (3,50 97 Y2APNN D93 1979 °NdY XPODNT NIONT
For later in ®2pn57 2 there are those who are unsure about it.

nvoIn asks:
= YIY 1NN NY 91D RIPIYN NYIY SN NIYT 10D NON 2WN RY INNINT 1Y 798

And contemplation is required, for why does not the X713 answer here that the
case of 1) XA An¥Y WK is where she first made someone for a 7925 msw,

and then the husband made her into a 75717% 7°®2; in which case -
:(aw) YAPNN D93 IR 199 ANNY AN NIEN DIVN TNY XI*YT

There cannot be an injunction on account of 3992 2nR% 78277 7731, as the X
states in ®apn: a1, since she made the 7535 mow first. M0N0 does not answer this ¥"x.

Summary
IXO1 XY 827 7030 according to °"wN is where he placed the v in someone else’s

231, and according to mooIn he placed it in his %1, The 2105 of XX Mmow 77m
%¥177 is questionable.

! Why make a 77°13 by mim?w on account of 1%, make the 77°73 on account of mn*ow, which is more similar.

¥ If we will allow the woman (who is a 199172 m9w) to appoint a 192p% %W, we may permit the woman to make the
same 7157972 2w, which the 9v2 appointed, into a 792p% n*>w, which is invalid.

? See previous & 71"7 'own [TIE footnote # 6] that in such a case it is not considered 2¥277 7¥8 MW 77m.

' They are unsure whether there is this requirement of 7277 YK NIow 7717,

"It is not comparable to JX» MR 727 77EA, since here the 792p% YW was activated before she became a oW
79292, however by 837 InXY 7827 7730, the 730 became her M9, only later; the two cases are totally different.
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Thinking it over

mooIn explains that 1837 RY 7827 7730 is where he placed the v3 in his 2%n and
then sold it to another.'” However in this case it is also not similar to a 799175 9w
(giving to a 122p% M°°W), because by M hw there was no interruption; the oW
o7 was always a m°%w until he gave it to the 792p% m°9Ww, however by 2, even
though initially he placed it in his 2%n (which may be considered his m5w),
however later he sold the 2x¥r and at that point it can no longer be his m%w, and
there is no 772p% MW yet, since the woman did not acquire it, so how can these
two cases be similar?!"’

12 See footnote # 5.
13 See 71mon71 "won TR # 74-77.
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